10257 , SOLUTION , DSSSB (Nursery teacher's)

Ques 1. ANS (D) Solution:

ISR Gqe 39 fig & wu § FMefia foar mar & Sei dqferd
Ted & 1Y fordft IaTe B Syfdl, 7T & sRIeR gt 71
Market equilibrium is defined as the point where supply
equals demand for a product with an equilibrium price.
Ques 2. ANS (C) Solution:

T U JUIT U9 SWHieatid Bud g1 T & IAG & g
21°C-27°C U] ATGH T 75-120 T, a1t auif &t
STGIHI Biell €| T8 Ueb bl Hel ¢ | $Heb 78 e e
a1 1t forg) Suantt 81 oy waffie Rifed waa 31 599 st
T ISP BI I SMaRTHdT Bt 3|

Sugarcane is a subtropical and tropical crop. For sugarcane
production, root temperature of 21°C-27°C and height of 75-
120 cm is required. Annual rainfall is required. It is a cash
crop. Deep loam or black soil is useful for this. This is the
most irrigated crop. It requires more labor and fertilizers.
Ques 3. ANS (A) Solution:

Hegaiify aferal § dag Ud $resl o [0 ®IH 81 391 99
T FPRITCH (Cucurbitaceae) &1 $P S=d - Sfaar
FHRIGA I A Hag SWH Hag AR [TAd Heg ol
Pumpkin and pumpkin have a special place among pumpkin
vegetables. Its genus name is Cucurbitaceae. Under this,
three species are Kashiphal or red pumpkin, Chappan
pumpkin and Vilayati pumpkin.

Ques 4. ANS (B) Solution:

TIEH HARY, il A TR gR1 [fed U Gdap 51 A Th
Tl TYUT YER 3081 URAR & JRITUD, Yaitl i Ta
3eTE T

‘Life Mantras” is a book written by Subrata Roy Sahara. He is
a businessman and the founder, managing director and
chairman of Sahara India Parivar.

Ques 5. ANS (B) Solution:

TG YT TG 48 P 3R URUTAT & MY 3R
3T Tromferdl | AT Sy 51 I B SIARRIPH Wifey
3R Y& B TGTaT ST 3T 50 AT BI Apuarsi § Ir-
UTfTahT I HTRITITST ¥ JUH HAT 356 40 TTH URId! Bl
TS

Article Provisions Article 48 To carry out agriculture and
animal husbandry with modern and scientific systems Article
51 To promote international peace and security for the state
Article 50 To separate the judiciary from the executive in the
public services of the state Article 40 Formation of Gram
Panchayats

Ques 6. ANS (A) Solution:

UFIId BT I & 14 SR, 1761 D1 O | oot &
TTHT 60 Hid IR H TRIGT VT SR SBIHH $ 350G
TG AT (3EHS MM R P o1 g3 UT| 39 I H qlera
& A B 3R 3aY S TaTe Yoll-3&-alall 3 3AGHS UE
SfaTaH BT AT fear o1| 34 WIe! &1 gR g8 N

The Third Battle of Panipat took place on January 14, 1761, at
Panipat, about 60 miles north of Delhi, between the Maratha
Empire and Ahmad Shah Abdali (Ahmad Shah Durrani) of
Afghanistan. In this war, Rohilla Afghan of Doab and Nawab

Shuja-ud-Daula of Awadh supported Ahmed Shah Abdali.
The Marathas were defeated in this.

Ques 7. ANS (A) Solution:

YR ReTd S &1 76 Ui, 1935 i foam 71 AT T8 HRA
1 HEH §% ¢ o Ree o7 e @1 R W mea
T3 1 SR, 1949 B HRHG Rord dep 1 Igiges=ur fobar
T 39 Uelieh fog § oY 3IR d18 &1 U B

The Reserve Bank of India was formed in April, 1935. It is the
central bank of India which was formed on the
recommendation of Hilton Young Commission. The Reserve
Bank of India was nationalized on January 1, 1949. Its symbol
consists of a tiger and a palm tree.

Ques 8. ANS (D) Solution:

feamerer v o Rt S o1 &, frek B g ot %
AR 3R =M F A1y Wi a1t & sifq for-gdf R
EIESIE

Lepcha La Pass, located in Himachal Pradesh, connects the
extreme south-eastern end of Spiti Valley with Shailkhar and
Chango of Hangrang Valley in Kinnaur.

Ques 9. ANS (D) Solution:

Td TR Wdl BT e ay 1982 H 73 e (Sarex ard
Je® wWisaw) H g3 39 Wl BT YHB 30 719 FT gl &1
AT 71 39 URIATS W H 33 =M & 3411 TYWICK A HIT foran
YT qYT = DT UYH R e

The ninth Asian Games was held in the year 1982 in New
Delhi (Jawahar Lal Nehru Stadium). The mascot of these
games was a baby elephant named Appu. In this Asian Open,
3411 athletes from 33 countries participated and China got
the first place.

Ques 10. ANS (A) Solution:

I AR ATh' ST U= H AR 1l 81 I8 -9 a9
& =U H 3d O H TR 1 5| 39 AR H g &1 ufaan
¥ ufas ofd &I TN U IR R fsahd g1

Buddhist festival ‘Sangkran’ is celebrated in Arunachal
Pradesh. It is celebrated as New Year in the month of April. In
this festival, people sprinkle the holy water of Buddha's
statue on each other.

Ques 11. ANS (B) Solution:

YR & faftr Ieat # fua et Fafafed - foren R -
AEXTG &1 fohdl ST + YR BT [l AT TR « Magprel Bl
a1 AT (FERTIE) « AC SITS! fbal daTg (@)

Ques 12. ANS (C) Solution:

SHER BT TH 1542 3 H SARDIC H §HT UT| IHHR BT
NS 15563 g3l RigR 1R dod € 3fer 3 39 Wl !
™A ¥ 1556 § T UMHIUA & fgdid g H fgg ol 89,
farmTfee &1 URTford fhaT| SIagaR 1605 § & SHHeR BT g
B TR I SRT & fAhe RydheT H G-I 7T |

Ques 13. ANS (C) Solution:

fort <=1 1 Wf3e s ISzl B gfd HRaT 8, O (i) T§ I
ot 3R Ryl & T=g & T4 & 1 ol 8, e
YR TR =1 &1 Fifd fovan S 9 71 (i) I8 89 §9R

T 1 Hifer Ul SR BT § | U1 T8 S TG Bl
TEHf T e G/ H SRR WM ST MY, Safch <= Bl




WPHR & eI WEY P SRBRR TG WA & I Bl
Uit el a1 WER de TS 1 A1 Sieeia|

Ques 14. ANS (C) Solution:

SNa STrgelt & Sfera Pl oiid fax a1 Siararsh $gd ol THD
e &) A © oo - s s it &1 sreme g 8
YT aTel a1 UG ufaRH- o aielf & faflrs uggsht &1
IS e forar ST B

Ques 15. ANS (B) Solution:

fafesr yra & ia o1 Wt T F&fd 3 vomett oft A qur Yt
S Ot 1 R & IR A1 Ga 3O s/ J Hid &1
IATG Bd Y| 1 <l I8 S WG od U a7 gOR STHIGR 9
THA P IR A ¥ 3R TSR] B BT TR TR A1
Wit Fard U1

Ques 16. ANS (A) Solution:

Ques 17. ANS (C) Solution:

ST T T URT & 83T RSl YSHRER & Y| e
TS 2023 gATHe B gHTA R AU & favg 3o A
IR BT WA R B b 1Y &1 17 IuTT S{13eH Ird, Sfieq 5
T 3B g ATl & fave 3/ 3ied GR & Wd &I g1 R
foram o1 3R I A1d TR H ISR 37U 3ifqH SHuH AFcs
T AT T

Ques 18. ANS (A) Solution:

PRI S T IR R TIaR urad I8 59 & WG Il
et ofik wrdwAe & & Jusmdl (e & o1 3 § sryoft
D &7 F 9 S ¥ 7 IR ¢ fax waArerg = T
I U §RT IBTT T HaTal & Siare H Far faar fos facia
¥ 2022-23 (FY23) P SR TRHR FARST J=13ff B! HRT S
BT F0T GUTGRITCH 187,813 RIS I Ugd T

Ques 19. ANS (A) Solution:

W A iddT Heaid HeRg ¥ debTel THTd I U1 8 geT
forT 8. WY A 39 Y 21 SHARI &I W HicidT & Feard
TeRIY R Ufdee ST 1. 98 Ufaee U= § ThUgud gRI
BIwT FoHl & Ieara & HRUI AT 74T 1. 34 Ufdsedl &
FHRUI, T B Gedrd < JaTs § AT SAFF dfug=fRm
2023 &1 fgwar 781 & TS off. FIFA has lifted its ban on the Sri
Lankan Football Federation with immediate effect. FIFA had
banned the Football Federation of Sri Lanka on 21 January

this year. This ban was imposed due to violation of FIFA rules
by FSL in administration. Due to these restrictions, the Sri
Lankan football team could not take part in the SAFF
Championship 2023 held in July.

Ques 20. ANS (D) Solution:

SR A TR B3 IR AT 120 I8 Y BT RIdT Sid
foram 8 | tIgd Hepraral A Sifeefora I <fdior aiieeT &1 19
Y g fean s ferms ¢\ 99 ugd 2010, 2012, 2014, 2018
3R 2020 & AT §9 gHT § | WRR 31t g A - Y T
WRR 1 & AR - TR MER

Ques 21. ANS (B) Solution:

Ans, (b) : & T A T
U

i~

o:c|m—1

T & fagéi R

s % faufm Q

U P
M R & 99 T 921 357 % 2
Ques 22. ANS (C) Solution:
Ans. (€):38:6:83:7

62+2=238
34T ¥R,
92+ 2=283
FIM_|2=29

Ques 23. ANS (B) Solution:

Ans. (b): 105J29H96Y 16 D 84
H%*xJ—->-D—>+Y—>-+

o a1 T § sfoenfid @ w-
105 -29x96+ 16 + 84
=105-174+ 84 =15

Ques 24. ANS (B) Solution:

SR TR TRA F1 A 30T g 8 I TR U &1 faam

TP BIeT o

Just as the opposite of hot is cold, similarly the opposite of

heavy is light.

Ques 25. ANS (C) Solution:

Ans. (¢) : RAMP — 3611332
E—>18x2=36
A—>1=1
M—>13=13
P—>16x2=32

ST SR,

D—s>4x2=8

E—-5=5

L—-12=12

L—s12x2=24

Fd: DELL = 851224
Ques 26. ANS (D) Solution:




Ans. (d) :

w—2 sy o g

H—2 57— N 7T

B2 sp " sH N
72 A LE P 7= wmmw
. ZAET 3R |

Ques 27. ANS (A) Solution:

Ans, (“hmw-

M—Tst Ty

E—23c  H—25F

L7155 sk A—15H

o—Hr M—

N—T5u  P—sw

3Tt TR,
F—Lsnm

2
A—>Y

M—Ls5T

—25E

s— sz

H—258
3 FAMISH &l %2 1 3 'MYTEZB' ferar s
Ques 28. ANS (C) Solution:

Ans. ()
+10 +10
F 8 S ’
E—HA A5

¥ +
 t10 .y ¢ t10

T P K
A, inaN

7

Ques 29. ANS (B) Solution:

[@ =2 = A

Ans. (b) 2
m—fzﬁ(_)m .................................. :I]T'ﬁ

7 kil
e T i Ty

I T 3T
Ques 30. ANS (C) Solution:

Ans. (c) ; 759, U, gt
TeN

faar
O g § WY ¢ o fawen (o) % g4y e
Ques 31. ANS (B) Solution:
TS UPR, DERMATOLOGY Reg H 31&RI &1 A& = 11 -1 =
10 TYT MAXIMUM Tsc H 3{&RI &1 G&AT = 7 - 1 = 6 341
TR, NOCTURNAL st H 3{&RT H1 I-AT = 9 -1 = 8
Just as, number of letters in the word DERMATOLOGY = 11 —
1 =10 and number of letters in the word MAXIMUM =7 — 1
= 6, similarly, number of letters in the word NOCTURNAL = 9
-1=8.
Ques 32. ANS (D) Solution:
feaT T FSTd- 48 x 5+ 9 + 6 (32—7) + 9 UHIER fagl
DI ORATTFRATR-=48 + 6+9x5-(32-7) + 9 =8 + 45
-25+9=37
Given expression —48 x 5+ 9 + 6 -(32-7) + 9 Changing
signs as per question—-=48 + 6 +9x5-(32-7)+9 =8+
45-25+9 =137
Ques 33. ANS (D) Solution:
TS U BT SHTHTa & 3SR T STl & dl SHpfa BT uor
Tl IR fd fibed (d) Bt wifd s &t
When the mirror is placed on the right side of the figure, the
mirror image of the figure will appear as answer-figure
option (d).
Ques 34. ANS (C) Solution:
Ans. (¢) F@e e 72—

42, 24, 34, 43,198, 89

[

3

Ques 35. ANS (D) Solution:

Ans. (0) YIGER  d34 & A9 fEEd &
e AE< Iuy BT T

P L S N N (N S

3 g9 & A% X O WH T A= 537




Ques 36. ANS (D) Solution:

Ans. (d)

A——B

A C
AT AT B & S # TR = A

T4 AT CF 5T 91 TR = A,

i r
2A; +3A; = 8750 (1)
3A; +2A, = 9825 (2)

(1) 3 F 79 =L (2) § 2 F 00 A T
6A] + 9A; = 26250
6A, < 4A; = 19650

M T 5A;=6600

Ay A T (2) § T -

3A, + 2640 = 9825

3A, = 7185

A =2395

A HF AT HHH B FR C H R F9

*2395 H[ '1320 2
Ques 37. ANS (A) Solution:

T Spfd # eara® g & RIF W 991 gAE SR-Said

I (a) oMUt 3R U &I guf U I g1 Hft|

In the given figure, answer figure option (a) will come in
place of the question mark without rotating it and will
complete the pattern completely.

Ques 38. ANS (D) Solution:

Ans. ()FH T,

P LACE QMZD D
| g 4
g T”
-1
+1
-1
B EAUTY CDZTUZ
+1 4 T 4
. I
-1
-1
+1
+]
I Y&,

MANS 11 ON NZ O T H NO
I +l*] A
=]
+]
+1
-

-1
+1

M- & ™ Y= F Hw R % 1 3 ofs 3 E §
T @ IR G 1 F A 8

Ques 39. ANS (C) Solution:

Ans. () TSAAR 934 &1 74 faq &

arEt B AT BR

I A A |
T R P U S Q

T Ufth & UHeH 210 B W T 931 &

Ques 40. ANS (D) Solution:

Ans. (d)

R S Q

L

M |
0) P
FFAl & W@ ABDC, AEFG, AEIH, GFIH, EKJL
AKJH, NLMO, RSFN, RQPO
3 gl A H T =9
Ques 41. ANS (D) Solution:
112, 72, 90 &1 FEH THGEE (LCM)-
112=2%x2x2%x2x7
T2=2%2x2x3x3
90=2x3x3x5
TAH = 2X2x2x2xX3x3x5%x7=5040
Ques 42. ANS (C) Solution:

Z
QO »
Tl




OEr 1 W H g =1
A1 20 Gl &1 %.9. =20
15 | & $h.H. = 20 HA & fo.

: - 20-15
a1 BIF % = %100
20

B % = 25%

Ques 43. ANS (B) Solution:
HA A F AEAfS e = x
o . B 75 3x
23/oaaﬁ’r$aﬁﬂ@_ xxﬁ_j
TR,
30 30
X x|
4
120 30 _
3x X

1

1

x="10
Ques 44. ANS (C) Solution:
AR : & =7: 15
A8l =511
AT, TR T B =T x5:5x15:15x 11

=35:75:165
B T il =165 : 35
=33:7
Ques 45. ANS (B) Solution:
AT P A X TeH e
Q 6 TEH farer fopam
HIAER,
Sxx _E
13x6 26
X_s5
3
x=15ﬂgﬁ

Ques 46. ANS (B) Solution:

HTATTHR-

t 5
p—F—=—
72 108 6
10t 10t 5
— I =
72 108 6
30t+20t 5
= — = —
216 6
50t 5
> —— ==
216 6
Sx216
—>t=
6x 50
36
—>t=
10

t =36

Ques 47. ANS (B) Solution:
TR TR
79 A ¥ B #HE: Tx oL, 5x O
9 . FmEE % a1 9 Fw e (12x-9)

: e

o fm & A A= (12x -9 )x - = 222 e
12 L 4 )

T4 B & A =[12x—9]x1%

T 10 . B WA W W

WE (60x-45) 60x—45+120

=|12x—9_}xﬁ_1[]= = 10= e
60x+75 [ 20x+25)
1 T4 )

fedm wiTER-

R A

T4 ) 20x+25 9

= 7(20x+25)=9(28x-21]

140= +175=252x - 185
175+ 189 =252x - 140x
364=112x

x=325

|ag amT=Tx=7x325=22.75| =
Ques 48. ANS (B) Solution:




TEY A ZRT 1 2 7 T & 9 T Am
1

12

WBmWﬁ:ﬁéﬁmmmm:%ﬁm
A 35 & 3T A S TR e £ 8 A |
T

R |
= ==
12 15 2
L Sl
60 2
= 9t=30
10
— [=—
3
= =3
3
waﬁ%’rfmaﬂmw%ﬂéﬁmm' |
Ques 49. ANS (A) Solution:
oI = 3680
T =4%
T =259
m:ﬂ?lﬂ?l’xa'{ X TFE :3680x4)<2,5
100 100
3680><100_ 368

100
Ques 50. ANS (D) Solution:

ﬁnﬁtmﬁama‘t_zf =5%
9 = 9 W@ = 3 fAEmEl
5

3
s woff & o= B9 W 99 &H —16000[1+ﬁ}

A:P(HL
100

—16000[21) 16000x21x21x21 _
20 20x20x20

Ques 51. ANS (B) Solution:

="18522

)

FRQ F ag =x T
P = g =(x +2) =
R & 5 = (x + 4) 74

(x+x+2+x+4)=27

3x+6=27
3x=21

-

x =7
5 Qw7 7 #
Ques 52. ANS (A) Solution:
A A TS x, v,z x<y<z?I
x+y+z=28x3
X+y+2z=84 coemees 1)
(x +2)+y+(z2-5)

-

3
x+y+z=3y+3
X=2y+2=3 (i)
7= I & FTER TE
z2-5-(x+2)=36
Z=X=43 ceeeeeev (1)
() B T (1) TR W
y=27
=H.0) 9,
Xx+y+z=84
x+z=84-27
x+z=57
Tz—-x=43
2z=100
z=50
519 W HHeI ¥ 99E I 589 = 50
Ques 53. ANS (A) Solution:
T 39 v =xkmh

v & STEn-

SYATTET.
| 9Ty W i
| Y |
100
3 —i_ {-+ 100%. lOOOkm
60
15 4
-3’—— .l | BB e }
x 0 e 4fy 60hf
x=§+3
2
x-gkmhr
2

Ques 54. ANS (C) Solution:




¥ ® g #
I = 144 km‘hour
Y = 15ﬁaz=£
60
=2
F1 39 T 7% 31 T 36 D km )

Z{ (Distance)

=1 (speed) = = (Time)

14 = Dxﬂ
15
_l44x15
© 60
D=36km
s¥iE g =36 km
Ques 55. ANS (B) Solution:

HIT €T 3T 5rer =x {0 g
= = Rem # A af = = (15+x) Rrio ge
e =1 R B # A @t 9= = (15-x) Bedio g
IR,

30 30

—_+ =43
(15+x) (15-x)

450-30x +30x +450 _
(15+x)(15-x)

22?0—0312 =5
200

n5-x7

200 =225 —x2

x2=25

x =5 B0 =z

Ques 56. ANS (A) Solution:
¥ o WRET = 27+ )
=2(5+4)= 18 &
mn T v oftar = 3o = 3a Wi
FTEE W SRS = TRag B T SRes
18 = 3% = 3a

~a=6

57 TRag B Ay = —{ixﬁxé-9\/3'@ﬁ.3

Ques 57. ANS (C) Solution:

T =a+(m-1)d

142,148,154 - 1291 72
a=142
d=148-142=6
Tp=142+(12-1)6
=142 +66
=208
Ques 58. ANS (B) Solution:
I & TR F WA Qe arel el o1 e = 9+12+15+
13 =49
F 9@ A aTd faential @ $ot S = 49
According to the graph, number of students playing game F
=9+12+15+ 13 =49
Total number of students playing F game = 49
Ques 59. ANS (C) Solution:

5
secO+tanB=32= 3—‘ = E.‘.,.(i)
10 5

. (i) % 3T Tl A (secB-tand) F 70T FH -
(secB + tan6) (sect —tanf) = % (secB —tanB)
[sec26—tan6=1]
5 .
secO-tanf = E.....{n)
T @)+ (i) T

16 5 281
2secl=—+—=—=>2secB=35125
5 16 80

3.5125

A
-

secH=

=1.75625

Ques 60. ANS (D) Solution:

]
A 2 ;
(4,5) (x.y) (-93)

mx, +m,x, 2x(-3)+3x4
X = = 2 =
m, +m, 2+3

X=—
5
_my, +m,y, 2x3+3x5
m, +m, 2+3

(1)

5
Ques 61. ANS (D) Solution:
fau T eIt  widhfas Rad R &1 gfd & e ved Suged
ec—"AI" BT 31 IUT AT GRT—""h1ed T T A
PV fd a1 A JeT g B
Ques 62. ANS (C) Solution:
fou T e A wikaw fad M @1 ofd F e Ie Suged
Rea—"URIRYSH" G| 3fct: Yol AT G-l o YR i
H SIs Uepfd & 3|
Ques 63. ANS (A) Solution:




feu U are 7 Ywifhd W B ufawiid w1 & for fad
I B URTA B B SIS Tel 8- 31ck: IUf a1a BHT-
R0 YR & W= A aRg pa1 F L B g1

Ques 64. ANS (C) Solution:

fau T fyey H-erd-faera &1 fadiy g TTera B1 3rufd
3P ol [AAH ea—"&rd-Ure=T BN 3ic: Y Vsl P faaH
G el & | oI Xeg faal 33 - fax & — e 31y - 3 ofd
- anfe

Ques 65. ANS (A) Solution:

fau T AT R1gd A SuA U i &1 g B gHd QU &

ifed U H 3 71 3 Y A1 BT XI5 = 3 i o
D! HEH! B &b ol

Ques 66. ANS (C) Solution:

U 7T rea—forTes TH GERT A 39 e TG BT U Wog
BT 3ifglia” | 31d: $© Wea (9 - aRI W I1d - fawmadt
HTH % forT SFUgad THY — JURIHY o W04 ¥ I g1 8-
Y 30 B 9 H g a1 - WA

Ques 67. ANS (A) Solution:

o 7T e # IR &Y R HH UG 31 39 a1 H AR &
e R G Xeg STad N 31fd $HeT gul a1 g3t
g&:sﬁasﬁma{ﬂhwqﬁwm—“lﬁaﬁmmm
|

Ques 68. ANS (D) Solution:

feu TQ arag # Y@ifed WS B ufaitd B & e e
JUgad Xeg—"g31" BT 3fd: GUT aTa gHTI-""IUWR &3 gt
U U T

Ques 69. ANS (A) Solution:

3 7 fead RIH &1 gfd & T god Iuge ss-Aed el
3fct: qui ared grm-"faufy & Wew ¥ &M o anfgul

Ques 70. ANS (C) Solution:

fau T e 3 &1 fadiAeree- e B 3fd: fdu Ty
fapeu & ea) &1 fadH 9 1 <eg fIdH 31T - STET, BT,
Tgd, Faifie®, 3fd, 3UR At — 3/ed

Ques 71. ANS (C) Solution:

Ques 72. ANS (A) Solution: faT 7T fdweq & ' TRa-fara”
e 2reg TTerd 81 3rufd faded b, ¢, d &1 faeie wee AR
21 31: I (a) TRA BT facH sa- JT, 3d, T 5| Ale-
oG - fId TR - G, 31, T | YU - G DT - HI7 7R
- 3R, T, Aig |

Ques 73. ANS (A) Solution: 3T 7T aTed & fYad &I &1 gfed
?q ST Xeg BT TANT UGS 8| 31 Ul arer giTT-
T & TR ST S 31 18l 8

Ques 74. ANS (D) Solution: &€ 71T a1a H- "IRT I 3D
fore U yrelt ot TTera ot 1 Srufd sW A H - U Ut Rt b
T8 IR YTl AT §I41 AR | 3fck: YUl I 1T — WRT o 3D
foTQ et M

Ques 75. ANS (B) Solution: 3T T ¥eg "R ¥ TR d%" & faw

I BT U Xeq BN — “SUTCHIID” | 3(d: WY Wb &

T AT 7 T eg SUTGHESD ' |

Ques 76. ANS (D) Solution: mWWﬁW@—S?ﬁ

TfaRd S & foTT e Jugad RMeg — “&Md ~ g1 31 guf

I BIT- R /IR 81 5TH ¥ 98 HId &l T

Ques 77. ANS (B) Solution: %QITEW H‘Tf &1 AR

Tec; Rl T8 g1 3rufa A A fapeu & g TS B
31at: fou MU A # (a, ¢, d) fade g1 & ol wrsg § AW

(b) fasrea Rt ot 1 THmdf 2reg 761 B 1 - Rt @
T 2reg - RRarged, A, JHie, SiEHRY Wee g1
Ques 78. ANS (A) Solution: f&T 1T Reg 31" &1 faay
Teg "M NN 31d: faU T¢ a1e & Wl o1 faei| Fg 31
UG M - 3/agH e e te Was U g, foraas ord
Ul U & T 81 § foradst gt ffdse & giar g

Ques 79. ANS (B) Solution: faT T arer & a8l Y- +R&H
i @it A, 39 areg o offs & forg Y- 1R&H e &1 TN
TAd 8, 31U 3B RIF R 9gd 2eg BT YANT faar S|
31d: SHPT qUl AT GRTI- “Jg1 Sigd His i |

Ques 80. ANS (D) Solution: fT 7T are & fad M &1 gfdf
B “31eR" Tg BT YA Iugad & | 31 Yuf aTe BITI- e &
& a% 3T TP “31eR” TR UG Ul

Ques 81. ANS (B) Solution: IWIed Passage% HIg & SR
R RIF (1) & has BT TANT SUGHR 81 34 fIdhed 81 3
Correct sentence — ------ of words has an enduring ----.
Ques 82. ANS (D) Solution: IWIad Passage & UG B SR
¥ RIF (2) & enjoyed (37 AT) BT TART UGS BRI 3
fawed T8 81 Pleased - UF A impressed - gYIfad AT
Looked — G Correct sentence — ------ Can be enjoyed by

Ques 83. ANS (B) Solution: SURIS IR H to be follwed &
RIM IR to follow T TN BT ek IR Present tense o B
Correct sentence — The easiest way to make pasta is to follow
chef Kapoor's instructions on you tube.

Ques 84. ANS (B) Solution: SURIS dTeRI b I@ifdbd HITT
pollutes with & I TR & is pulluted with TN R Fifds
Tfe Result sentence 3l Principal clause future Indefinite e
g1 dl Conditional clause TG Present indefinite ¥ Bldt %‘I
Correct sentence — If the air is polluted with small particles,
natural or otherwise, the sunset will be more red.

Ques 85. ANS (A) Solution: JWRIad fddedl # ¥ fdshed
Imaculate @ a1 %%Wlﬂ@aﬁ immaculate
(ﬁﬁﬁ/&l@ g &Wﬁmﬁaﬁfﬂ&'%l Impediment -
STY/FZHIAC Immense — AARH Immature — ARTSH

Ques 86. ANS (D) Solution: IURIGd dTed & TG & TR
e R T rescued (@@ HT TN YA BT 3= fdded
i \’ﬂféﬁ%l Preserved — SRf&d Transferred — RIMIARd
AT Passed — SdId Correct sentence — The little girl rescued
a puppy from the street.

Ques 87. ANS (A) Solution: SURIGd I H | am thinking &
RIM W | am think T AN 1T b think BT TANT as a verb
continuous tense ﬁq‘sﬁmwél Note - Wﬁﬂﬂﬂa@[
think, feel, believe @I Progressive sense or continuous tense
T 78 U 5T ST 81 Correct sentence — | think your idea
will be really appreciated by everyone.

Ques 88. ANS (A) Solution: JIWIFd qTH H Freeze at b R
TR Had Freeze &I YANT 8 HIfdh “SHA & sense B Freeze
& IS at (Preposition) T TN q?[%ﬁ?ﬂ %I Correct sentence —
Water freeze 0° degree celsius.

Ques 89. ANS (C) Solution: IWRIed Idiom, Between Scylla
and charybdis @ﬁ?ﬂf{_@:ﬂ) & forg fdeed ‘choice between
two unpleasant alternative’ WWW%I A
fasen i orf 3A B




Ques 90. ANS (C) Solution: SWIgd fadeul # T fawed Sheild
B G G & 3TB! Y a1 Shield (@) & 37 el
DI I Y § 1 Injury — A/&T Thrust — SATEHHOT/ TS
Attach — G¥ HAT

Ques 91. ANS (B) Solution: Keen (3&®), Synonym, Eager
(S D/ AHIR) 3 fadeat & - Benign —@TCI/G‘I%T Jovial -
TR Active — Tfchd / forarita

Ques 92. ANS (B) Solution: Toil (@3- GR%H), Synonym,
Sweat (URsH) 37 faBed! & 37 - Drive - SR / TAMT
Rest — [aY™ AT Climb — TG

Ques 93. ANS (D) Solution: SR group of words,
Shortened form of a word or phrase & forg faweq
Abbreviation (HfaeieUT IUGH Weg © 3 fadwedl & o
fF B1 Precis — UR/ART fRGT Summary — T fdaRor
Anagram — qui -fawef

Ques 94. ANS (A) Solution: JURIe dTed & Y@ifbd T did
much mistakes & ®IF TR committed many mistakes BT TIRT
@W FifB mistakes P 1Y verb & U H committed BT YTRT
BT § TUT T8I TR much & VI TR many &1 JART 8T i
mistake T8T TR as a countable Noun U g3l 81 Correct
sentence — He committed many mistakes.

Ques 95. ANS (C) Solution: IR group of words, A
person who walks in his/her sleep & forg faweq
Somnambulist (& & T ITdT) ITIH Wsg ¢ | 3 fameat
¥ 31 I B 1 Exorcist — 3HT/STE-2IHT $H3 dTT Atheist —
FIRKIP Ventriloquist - TRESAIG]/RE-TRE 1 fTaTe HepTel
REZKIK

Ques 96. ANS (C) Solution: IR group of word, The
sound an elephant makes %ﬁﬂzﬁﬁq Trumpet (ﬁ[‘iﬂS—"ﬂ)
IUGH WS ¢ 3 fabedl & 31ef el § Bray — TR AT/
TS/ Grunt — (GR-GR) 3R BT TGS Low — HTHT /HH
Ques 97. ANS (A) Solution: SURIG AT & UG & AR
9 ®IM T operate (AT HAT) &1 TN ST 81T 3
ooy fir o1df 3 B 1 activate — TfHT BT drive — 3R /
FAMT Control — =AU AT Correct sentence — The systems
operate on back-up battery when the electricity goes off.
Ques 98. ANS (A) Solution: Persist (FI'PR_E"T-TD Antonym —
Discontinue (A& A1/ g 31 fadweal & 312 - Convince
— fayr TSI Enable — §9 &1 / W& Incline - b
Ques 99. ANS (B) Solution:

Ques 100. ANS (C) Solution: IR Idiom, Raining cats and
dogs(HRT 81 BT & o fd@ed Raining heavily SUgad
FHREAT Bl © 3 [ahed e ored S B

Ques 101. ANS (A) Solution:

Ques 102. ANS (A) Solution:

Ques 103. ANS (A) Solution:

Ques 104. ANS (A) Solution:

Ques 105. ANS (C) Solution:

Ques 106. ANS (A) Solution:

Ques 107. ANS (D) Solution:

Ques 108. ANS (D) Solution:

Ques 109. ANS (D) Solution:

Ques 110. ANS (C) Solution:

Ques 111. ANS (D) Solution:

Ques 112. ANS (A) Solution:

Ques 113. ANS (C) Solution:

Ques 114. ANS (D) Solution:

Ques 115. ANS (A) Solution:

Ques 116. ANS (A) Solution:

Ques 117. ANS (D) Solution:

Ques 118. ANS (D) Solution:

Ques 119. ANS (D) Solution:

Ques 120. ANS (C) Solution:

Ques 121. ANS (A) Solution:

S{RNTH T GHITARUT Ueh a7 difch1 Heiferd GHw1 &l 8 A

T YR R & o Uh BRI ! R B F U FH BT

KGRI

S{TETH BT JHRIHD RIFITRUT: SATH BT HHRIEHD

RIFIRUI qF BIdT € S Teh BT bl TReH I g8 B Bl

R # 3Tt iell 81 ITeR b ferg-

IEfrd T & Aga b1 I Wpex Ia-T1 ARa- J Jgriar

FRAT G|

T Dls B WA ATHI0G Faa § AeRd 81 SR Ad1 g o

I g SISl aieH, 9&M w0 § forg oiR oo 7 sy fawa

PT 31T B H T Eefl 21

TH IR Fd PIs Al 3 &g 814 Y IRbesid di

HAT UG I & A1 S 1 P A1¢ g1 H RIFARG HAT

iRl 61 Bl ¢ |

UTRI&UT T THRIHD RIFIRU: Sd SATH S 1 & 1Y

gﬁﬁqwﬁ?ﬁgﬁm&rﬂrwwwwm
I

IETERUI- §TU BTY =T dTel T8+ G4 BT & =il e o

CIBISINGRS

SHFTH BT T RIFIARUT- 9d g4 § U T I &1 918 Bt

fRuf o TRe= o1 ve=[ & I9 W $IS U1 61 gSdr g

Transfer of learning is the application of knowledge gained

from completing one task to help solve a different but

related, problem.

Positive transfer of learning: Positive transfer of learning is

when learning on one task does facilitate learning another.

For example-

knowledge of balancing in cycling helps in learning about

scooter driving.

When a pupil masters simple grammatical rules he is enabled

to speak correct English, write competently, and study other

subjects in English as well.

Once a person has learned to shoot a basketball with their

right hand it is not difficult to transfer that learning to the left

hand.

Negative transfer of training: When one learning interferes

with others, it is called negative transfer of training.

Example- Left-hand drive vehicles hindering the learning of

right-hand drive.

Zero transfer of learning:- When previous learning has no

influence on learning or performance in a later situation.

Ques 122. ANS (C) Solution:

Thorndike presented the theory on laws of learning on basis
of his belief connectionism. These laws are originally the
outgrowth of experiments in the field of animal psychology.
He presented his theory in his book Animal intelligence in
1911.




The three major laws are:

Law of readiness - It implies that if you are not ready to learn
something, you can not learn it effectively and if you are
ready to learn something, you can learn effectively.
Readiness comes from interest,, need, maturity etc.

Law of exercise - The second important law has two aspects.
It is based on the law of use and disuse. This law promotes
revision and recall. Repeated exercising of a response
strengths it connection to the stimulus and disuse weakens it.
Later he recognized that mere blind repetition is not
sufficient for effective learning, rather knowledge of results is
an essential condition for it.

Law of effect- The meaning of the law of effect is the effect
of learning. The trails or steps leading to satisfaction stamps
in the connection. Satisfying states lead to consolidation and
strengthening of connection whereas dissatisfaction leads to
the weakening or stamping out of the connection. We want
to learn the things which make us feel happy or satisfied.
Ques 123. ANS (B) Solution:

SHfRId P A& BT Rl

. Sy, SMAUIE, 3R, . e SR TIS. 3M3EP i &
&0 Riid & T ufiure |

faRIvaT o P71 Ue ST §iaT § ford |11 S §ehdl § 3R
fopet afad & T HAER BT JUMH BT AT

T 31 & =Y H U ARVl D! AETHS ¥ ¥ D
FHRIAD 3T Y SIS THRIAD 3id T AU & AR TAH
& =0 H T ST B

ferreert Rl & AR, e 51 3107 310 ) $& e
faRiverel de Rfid T@d 8 o T HHa Afdid & e 3R
TR 8, SuT auf XA &1 THwn WA g S e
frgiaaTel SRR 37 A&l & T SR HA § S S J T
ST & SR S X 3IR o Afadd P HeId gid gl

foRe Rigid & DI # Y T DI U8 & A&l & =Y
o ST & <G A1 01 P qUiE Hal § SR AN Ao &
&y # 1R afamdl & daol BT quE IR 6

Trait theory of personality:

G.W. Allport, R.B. Cattell, and H.J. Eysenck are the chief
exponents of the trait theory of personality.

A trait is a dimension of personality that can be measured
and must describe the consistent behavior of an individual.
A trait as a dimension is conceived quantitatively as a
continuous scale of measurement from extensive positive
end to the extreme negative end.

According to the trait theory, if we confine ourselves to a few
basic characteristics which are consistent and distinctive of a
human personality the problem of describing it should
become simpler.

Theorists often distinguish between the traits which are
readily observed and those which are deeper and nearer to
the core personality.

One of approach to the trait theory describes the readily
observable traits as a surface traits and the deeper ones as
source traits.

Ques 124. ANS (A) Solution:

HHR® U A W il § Fafifad fRwdn gt 8

FHTAT H B & TG &N S WY BT SN SR
3! TRE W FHRINNT PR & g &R 78 Rufd 3T g o
& S 21 T8 URERS Faell Bl fIepfiid a3 ok Juft &
1Y YHRTHD HaeR HR § i Aeg Bl 8l

3T -HTIh1 1 & T8 & I (A1 EPHIVI & T BT
T R § W& S g

SMATIYI: g &A1 38 GG B! WIHR B 3R 4RI A
e g § SR Rrenffat o waft 8 # sgd srefaym
HEYH BRI g

YT URUSHAT: T8 &HdT 3= Aldd 01 a 3R TR
FA T Ieg Bl |

TG I Ig &A1 35 IRGURD VDIV & AFHR P
fa=awor R & erm T B

fyofg O T Ue URT &TaT § S 3% Ui THBR Tehd
HRp TS U I Fofg 49 & 7eg Hal 7l

IRATADH AT Bl WHR BT Tg IRATADHT B THIH R
qEGTIR WHR TR Bt &1 B |
FHEIT-GHYM: TG & 35 fad-Ufdfe & S H gAR
RS P TTEHS JATYM WioH | & S 81

Mentally healthy persons possess the following

characteristics:

Ability to adjust: This ability enables them to understand
every new situation to adopt themselves and to adjust well. It
also helps to develop interpersonal relationships and to deal
positively with all.

Capacity of self-evaluation: This ability makes them able to
evaluate themselves from various perspectives.
Self-confidence: This ability makes them able to accept and
trust themselves and makes learners feel very confident in all
areas.

Emotional Maturity: This ability helps them to inform and
communicate moral judgments and decisions.

Critical thinking: This ability makes them able to analyze
information with an objective perspective.

Decision making: This is an ability that helps them to
constructively take decisions by gathering relevant
information.

Acceptance of reality: This is the ability to understand reality
and accept it accordingly.

Problem-solving: This ability enables them to find
constructive solutions to our problems in day-to-day life.
Ques 125. ANS (A) Solution:

S &1 B-3mar Aisd / g W &1 Rigia:

g &1 TY 31 ATsa 1966 H J p FAA®IS gRY feam mar |

S AIAwIS & gis a1 () & Rigia ¥, S &1 wfesan,
fawa 9% SR IdTed & FU # <41 A 5l

39 Rigid & 3rER,

Tfoha1 & 6 PR § (G, SHTHERY o, srowmd fom,
SUYRY IcTeH, SHHART ITeH, Hedieh),

IATEA & 6 UHR & (GHTS, a7, GaY, TUITH, TR 3R
3y), SR

v TG F 5 UPR- RS @0 3R o), UdleTeia,
3T, FTERIHD & |

TH ¥ Udd ST WA ¢, UGl w0 3 gfs & 180 fafia
prcad

S| i GRT SfgATHG fAfRY amarei @l H= & forg ferers




A P TR & FHANTIID U0 fHT 3R 311 faewry fosan |
3 tlarr Rigid gRT URdTfdd &g &Hdrsh &1 T uRared
TRHTST UGH F 5 | SHD 3(el1d], PRSP [ARATU BT SUAN T8
iR w1 & fore fovan wan o1 fos v &) o fafiret ermramedt &1
HIO & forg S ¥ e i@ e

Three Dimensional Model of Intellect/Structured Theory of
Intelligence:

SI model of intelligence was given by J P Guilford in 1966.

In J.P. Guilford's Structure of Intellect (SI) theory, intelligence
is viewed as comprising operations, contents, and products.
According to this theory, There are

6 kinds of operations (cognition, memory recording, memory
retention, divergent production, convergent production,
evaluation),

6 kinds of products (units, classes, relations, systems,
transformations, and implications), and

5 kinds of contents ((Figural - visual & auditory), symbolic,
semantic, behavioral).

Each of these dimensions is independent, there are
theoretically 180 different components of intelligence.
Guilford researched and developed a wide variety of
psychometric tests to measure the specific abilities predicted
by SI theory.

These tests provide an operational definition of the many
abilities proposed by the theory. Furthermore, factor analysis
was used to determine which tests appeared to measure the
same or different abilities.

Ques 126. ANS (C) Solution:

YIS T, TAER & g ¥ afdrd g | et &
SRR, "HAIARH $I AFd HAeR & a3 & U & qad

Hdrsee FU J TR foar S g1

URURS &Y ¥ 3YFdH TG I SHS g Bl AT 91l & |

™ ] UAER P DR A YHIIT IT 3PTerd Bl |

Afe1 sgagR ot Wd vehe g B

Y <1 SR [T S 9hal 5

T & TAER PT (e YANT 3R faciih & HIead J

e ST 3

g aeR 3R AFRI® Ufsharsii &7 guiH, Tre iR fFg=

FRA B

g Ja 3R SFRITH HTGR BT TTA g fordH HIGTE 3R

[EEREUERES

g IS, HIATED IR HARTITD FdER BT ST 5|
Modern psychology is related to the study of behavior.

According to Pillsbury, "Psychology has been most
satisfactorily defined as the science of human behavior."
Wundt is traditionally recognized as the father of modern
psychology.

The behavior of man is influenced or conditioned by many
factors.

But behavior also manifests by itself.

It can be observed and measured.

Study of the behavior of humans through experimentation
and observation.

It describes, explains, and controls behavior and mental
processes.

It is the study of conscious and unconscious behavior which

includes feelings and thoughts.

It is the study of cognitive, affective, and psychomotor
behavior.

Ques 127. ANS (B) Solution:

TG dh-ie § TLE0T § S i & I Hed Uggel Bl
Yehe A b o fees fbu MU g il cufdd & srele a1 9
gl 81

3T IRUMY, 50t 58 Sy, Sifdies T o Sfeerant 3-d
SRR WHTT ¥ I Il & Sl UT6P & T FIGR Pl
THTTAd Bl & |

UETHd SRRRIT BRI BT SATSTHE Y&TT ah-1h! &I Th
T ki foRiwar &1

T S TRI&0T Al H1UA &1 U YT a1 ¢ | 39
TR IR A fawfya faar )

D ae U&7 (TAT) H 20 for 81 & o 9t el 8fR
e 8 8| forar & gifu U anil ) STHege] sruy fRufa
H 1 1 5

SR R GTE TS B! Bl RS AHIATID gRT bl &Il 8,
St el & Ot R Jareff ot 5 HiaHTSll Y Uhe A aral
FHAT SR V& B WIS PR B DI Bl gl

TS STy TRIE0T ThR o1 o RS Ugfa #, Tl Ugd
75 Fyiid wRar g & e $H 8, 5 of i o1 9l
o Ty Ufiard! gg &1 ugamdr gl

Projective methods are the tests that are designed to reveal
those central aspects of personality that lie in the
unconscious mind of an individual.

Unconscious motivations, hidden desires, inner fears, and
complexes are presumed to be elicited by their unstructured
nature that affects the client's conscious behavior.

The assignment of a relatively unstructured task is a major
distinguishing feature of projective techniques.

Thematic Apperception Test is a projective technique of
personality measurement. This test was developed by Henry
Murray.

The Thematic Apperception Test (TAT) consists of 20 pictures
which are all black and white. The people depicted in the
picture are deliberately drawn in ambiguous situations.

The story narrated by the client is interpreted by the
psychologist, who tries to look for revealing statements and
projection of the client’s hidden emotions onto the
characters in the pictures.

In the original interpretation method of TAT scores, the
examiner first determines who is the "hero”, the character of
either sex with whom the respondent presumably identifies
himself or herself.

Ques 128. ANS (B) Solution:

TR SATTROT:

3fiafees SIFTROT a8 IRON § St AfdaTd Sig, S ar orve 9
SIUITOIG Bl 1 O < 41 3G | Wa: I giel § 3IR
e & iR IURT Bl 5l

g S &1 Siiae fRUT a1 SR ¢ 1 98 FaeR B! FaRE
TR B SN AT F SM-WETHR B 3R A St 2

g BT PR 3R URUMH I B3 B UgRl Bl I 81 T8
S 7 35 21 33 31 51 2 o el 3t a1
RG]

IETERT % I, T B 9IS TiefT & o et Ageid we e @




Fiifer I8 Bt HeTd B | Holl 3M1dT g

TTRT SHFORTT:

TR SATYTRO TR U & o fore fanedt o & ve=iH &1
Tefifd ot § 3R aufdd & aex § ot 31

Ig Ueh VU IER & Y Ad Hcl g ol TRIBR foid FHe a1
IOl & §9 & gRT FGRId gt g

I UBR ! UURN U AFRIGAT o1 101 Bt § S8t
fRremeff Saet quft T B B e AT R O HTH W
R REGR A gl

I2TERY & Y, Ueh T3 1S TRi& & o et Bg-d X 38T §
Fifp ITPb fraT 7 I 3 3 U PR W HIexASfbd o1
F1arel frar g

Intrinsic motivation:

Intrinsic motivation is the motivation that is animated by
personal enjoyment, interest, or pleasure. It is driven by an
interest or enjoyment in the task itself and exists within the
individual.

It is the internal condition or factor of learning. It directs
behavior that leads to self-actualization in learning.

It is the arousal of a tendency to act and produce results. It is
the drive to achieve something in life that satisfies one’s
needs.

For example, A student is working hard for Board
Examination because he enjoys doing hard work.

Extrinsic motivation:

Extrinsic motivation refers to the performance of an activity
in order to attain an outcome and comes from outside of the
individual.

It refers to a behavior that is guided by earning rewards or
avoiding punishment.

Such kind of motivation creates a mindset where the learner
expects to put effort only when there is a reward at the
completion of work.

For example, A student is working hard for Board
Examination because his father has promised to him a
motorcycle if he gets good marks.

Ques 129. ANS (B) Solution:

T F 3118 Afsd TR AT SRAH F 3718 THR;

Tobd S1firTH: Rremdf v Tobd & ufa W= Srfehar HRaT |
U - SFFfohaT SHTeRTH: el T Hopa & forg vt
3fehaT BRAT B

ST SIRITE: U W & i SEIUE! SR sfbaIeh &
Th g BT Ay |

feaes Tread Siftrm: R Mies ey &1 Iuan Hb
SSIEERIRI

favg srfdrmm: Rugmdf faftr SEiuw! & fag eferT-sre
3R AT & Sl $S T d TP O Bl &

T SR fRigndf SETuepi & a7 & SMUR IR AP
3o HA BT T A RId BT 3

g siftnm: T W uefia odeR ¥ St sfaurunaf o
Teh el 8|

TR ATy ST gl use ¥ Wk e et & g
T Ul T § 3R T 3Meel R &1 50 el & forg 3
AR HRT 5|

Gagne's Eight Intellectual Levels or Eight Types of Learning:

Signal learning: The learner makes a general response to a
signal.

Stimulus-response learning: The learner makes a precise
response to a signal.

Chaining: The connection of a set of individual stimulus and
responses in a sequence.

Verbal association: The learner makes associations using
verbal connections.

Discrimination Learning: The learner makes different
responses to different stimuli that are somewhat alike.
Concept learning: The learner develops the ability to make a
generalized response based on a class of stimuli.

Rule learning: A rule is a chain of concepts linked to
demonstrated behavior.

Problem-solving: The learner discovers a combination of
previously learned rules and applies them to solve a novel
situation.

Ques 130. ANS (C) Solution:

Tt Sita ST Sifde Tgfal & 91y ST 81d § ol 9
Sfifad ¥g- § gerdl Hvd gl

Ig Rrgid sarar § & gf vt oRe & sgaeRi & anferd axdt
gl

g Tea-FERT iR Ta8R & TS WU & ot ST I
v BT GRUTH T B

ST Il & ®U § f ST S 21

ISR - YW, W, =iig 3|

All organisms are born with innate biological tendencies that
help them survive.

This theory suggests that instincts drive all behaviours.
Instincts are goal-directed and innate patterns of behaviour
that are not the result of learning or experience.

Also known as innate motives.

Example - Hunger, Thirst, Sleep.

Ques 131. ANS (C) Solution:

Ul §fg TRIE0T o * § o9R-A1s 0 Xohar o A1 ¥ ST ST
g, fom SIR wre e g faeRrd o mam ami

33T TAT & IH &

1904 H, I WHR 7 3fcihs fo Bl I I4 o forg faviy
Y ¥ HH-3Nd g I I B U A & oY Th U
T wva & for fgad faran, a1fs 32 fadiw e < o
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The first intelligence test which is known as 'The Binet-Simon
Scale' was developed by Binet and Simon.

Let's Understand in Brief:




In 1904, the French Government appointed Alfred Binet to
develop a measure to identify children with notably below-
average intelligence for their age, so that special education
can be given to them.

With this objective, in 1905 Binet with the help of Theodore
Simon developed the first intelligence test, which is popularly
known as the first Binet-Simon scale.

This scale consisted of 30 problems measuring a variety of
functions, such as judgment, comprehension, and reasoning.
Binet believed that these functions are the essential
components of intelligence.

The items were arranged in ascending order of difficulty. The
items were administered to 50 normal children of 3 to 11
years of age, some mentally retarded children, and some
adults in order to determine the difficulty level of the items.
In this scale, no precise method to calculate the total score
was available.

Ques 132. ANS (B) Solution:

T TR S G181 § SFeRl & <F ol &1 fafad foan
S T3 T AT a1 fovaR & W11 SHTol U1 BT CAT T
CAT-A (TSR] & Q) & FU & S A1 5

CAT 18 R U & ol & FHeuT 3R 3 Mg Tfafafy,
TR UfAgfgaT, SMepmehdr 3R Seai & vl &t Tewst 9
eI HegTal &I IHuH & forg feems forar m B

CAT T IeT Tl AEUN BT AT § | gd-ara Taeft s
H 2@ SR TP deeh uforang we it &

ol Y U e URgd B IR TP a7 bl FRUferdt 1 quf
FXA R ol B AT a1 e & IR | HEIat a9 F o
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The original CAT featured ten pictures of animals in such

human social contexts as playing games or sleeping in a bed.
Today the version is known as CAT or the CAT-A (for
animals).

The CAT cards with animal pictures are designed to evoke
fantasies relating to problems of feeling and other oral
activity, sibling rivalry, aggression, and experiences of
children.

The CAT is intended to measure personality traits. attitudes,
and psychodynamic processes evident in pre-pubertal
children.

By presenting a series of pictures and asking a child to
describe the situations and make up stories about the people
or animals in the pictures, an examiner can elicit this
information about the child.

Ques 133. ANS (D) Solution:
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Principles of development:-

Principle of Continuity: - Process of development starts in the
mother's womb and continues till the last breath of the
person. Development never stops. Even after the person is
matured, the development process still continues.

Principle of integration: - It denotes a combination of several
smaller units into bigger ones. For example, Child first starts
to learn hand movement then finger movement, and then
learns the movement of both hand and finger together this
process is called integration.

Principle of interaction: - Development of a person depends
on the interaction of heredity and environment.

Principle of interrelation: - Various dimensions of one’s
development are interrelated, including physical, social, and
mental aspects.
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Refer to the table to be familiar with all the stages of Erik
Erikson's theory.
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Problem solving method:

The problem-solving method is the best method for the
development of creativity.

It encourages the student to formulate and test the
hypotheses.

It helps the student to develop critical thinking, open-
mindedness, and a spirit of inquiry and discovery.

It provides the active participation of the students in
teaching-learning activities.

It provides students to gain scientific view and thinking.

It helps to improve the sense of responsibility of the
students.
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The mental processes involved in gaining knowledge and
understanding are referred to as cognition.

It deals with the development of thought and knowledge.
The numerous cognitive functions include knowing,
remembering, judging, and solving problems.

All our mental abilities- perceiving, remembering, and
reasoning, are organized into a complex system, the overall
functioning of which is termed cognition.
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Characteristics of Child emotions:-

Child emotions are brief.

The intensity of emotions.

Child emotions are transitory in nature.

Emotions of children appear frequently.

The quickness of emotions.

A frequent manifestation of emotions.

The emotional response of a child is different.
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Kinds of Habits-

The general classification of habits consists of two categories
viz. are good habits and bad habits.

Good habits: Good habits are those which have a good
impact on individual and society. In order to acquire good
habits, it is necessary to have the firmness of determination.
Bad habits: Bad habits are harmful to the individual as well as
society. Bad habits are easily formed such as smoking,
drinking, gambling etc

According to another classification, habits can be divided
into three groups-

Bodily habits: These are walking, standing, manner of dress
and other activities involving the use of body parts.

Habits of character: These are character-building habits such
as punctuality, hospitality, cleanliness, honesty, truthfulness,
cooperation, sincerity etc.
Habits of thought: Habits of thought such as those of
thinking, reasoning, keen observation and accurate
judgement.
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The 1Q ranges of educable mentally retarded (EMR), trainable
mentally retarded (TMR), and custodial mentally retarded
(CMR) are given below:

Q
Levels of MR  Range of Educators
MR
. Educable
Retahftl::tion 5070 Mentally
Retarded
Trainable
R”{”“gr?‘e 3550  Mentally
elartation Retarded
Severe Custodial
. 20-35 Mentally
Retardation Retarded
Custodial
R;T:;:;:ﬂ Below 20 Mentally
Retarded
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Adolescence is the period of development from pubescence
to adulthood.

It is the period when the child moves from dependency to
autonomy.

It is a period demanding significant adjustment to the
physical and social changes which distinguish childhood
behavior from adult behavior.
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The Pre-Operational Stage:

This is the second stage of cognitive development which is
basically a pre-logical stage as logic has not yet fully
developed. It extends from two to seven years of age.

We saw that towards the end of the second year, the child
becomes capable of representing experiences mentally
without interacting with them directly or physically. Also that
the child begins to understand that symbols represent
certain aspects of reality.

At this age, the child exhibits symbolic representation which
means the ability to deal with symbols. Although the child is
able to think about symbols still he lacks reversibility.
According to Piaget, the capacity to store mental images or
symbols of objects and experiences is known as
representational ability that emerges when the child is about
22-24 months old.

It is a unified capacity that enables the child to represent an
object or an event that is not present (a signified) by means
of another object that is present (a signifier).

The child during this stage engages in what is called a
symbolic play that is, the wooden box is considered as a car,
a rounding, the steering wheel and the stick, a gun. A child
pretends to ride a broomstick to represent riding a horse.
Thus, it is concluded that according to Piaget,
representational ability term is used for the capacity to store
mental images or symbols of objects and experiences.
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Core concepts are given by Vygotsky

More Knowledgeable Others (MKO): He defined intelligence
as “the capacity to learn from instruction”. According to him,
these are those people, who are more knowledgeable and
have better expertise in a particular domain. These MKO can
help in improving the skill of the children. MKO need not be
a person in all instances. Sometimes, MKO can be computers
also.

Zone of Proximal Development (ZPD): It is the key feature of
Vygotsky's theory. The concept of MKO is closely related to
ZPD. According to Vygotsky, ZPD is the difference between
the present level of development attained without anyone's
assistance and the potential level of development that can be
attained under the guidance of MKO. However, the level of
provided knowledge should be appropriate according to the
child’'s comprehensive ability.

Scaffolding: Scaffolding is a temporary structure, made up of
wooden planks and metal poles, to support the workmen in
constructing, maintaining, and repairing a building. Vygotsky
used this term to describe social and instructional support
provided by MKO to students to learn new concepts and
skills. Once the skill is learned by the student, the
instructional support is withdrawn, just like scaffolding after
completing the construction.
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Educational Psychology is the systematic study of the
development of the individual within the educational setting.
It implies scientific methods to study different phenomena.
It establishes principles and laws of learning.

It helps the teacher foster the student's harmonious overall
development by referring to developmental studies and
learning theories.

It also obtains its subject matter from biology, sociology, etc.
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Forgetting occurs due to interference with other memories or
other learnt material.

If you do not use your stored information at a regular
interval of time, then you may be at the risk of losing it
because rehearsal or practice was not sufficiently elaborate.
Forgetting can also occur due to the absence of an
appropriate cue or the presence of poor cue.

Thus, it is concluded that when the memory traces in the
individual’s brain gets distorted the result is forgetting.
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Characteristics of adolescence -

A transitional stage

Peak intelligence and stamina

Confused about identity

Never accept without interrogation

Love liberty

Try to seek attention by any means

Emotional instability

Lack of self control

Increased decision making

The search for self

Undefined status

Transitional stage
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Learning can be defined as a permanent change in behaviour
produced by experience.
Changes that occur due to practice and experience are
relatively permanent and are a component of learning.
Learning is inferred as a process of continuous psychological
events.
It is different from performance and temporary behavioural
changes.
Learning is a continuous process. From childhood every
human being tries to change his/her behaviour, thinking,
attitude, interest, etc. continuously to fit himself/herself into
the ever-changing conditions of life.
Learning is goal-directed. Every human being aspires to
achieve some goals in his/her life. These goals may be
achieved through learning. If there is no goal to achieve, then
there would be no necessity for learning.
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Projective technlque.




A Projective test is a personality test designed to yield
information about someone's personality on the basis of
their unrestricted response to ambiguous objects or
situations.

Projective techniques are a set of instruments whose main
objective is to describe and characterized personality.
There are three methods of assessing personality:
Standardized Test/ Objective test

Non-Standardized Test/ Subjective test

Projective methods

Some examples of Standardized tests, Non-standardized
test,s and projective tests:

Non-

Standardized
- Standardized

Projective Test

Test Test of Personality
Achi
chievement Anecdotal BG test
test records
Aptitude test = Autobiography Graphology
Children

Intelligence test .  Case study .
Apperception test

Interest test Interview Mosaic test
Personal )

. , Score Card Clay modeling

inventories
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Freud proposed that our personality consists of three
elements namely, id, ego, and superego.

Id: This part of personality operates unconsciously. It deals
with basic instincts, biological needs, and aggressive
impulses. The aim of id is to gratify one’s need immediately
without considering the moral values of the society and the
individual.

Ego: The part of the personality responsible for the reality
check is known as the ego. The ego works on the reality
principle, delaying id's gratification until an appropriate and
more realistic situation is not found. This part of personality
emerges from id and its main objective is to strike a balance
between id's impulsive needs and the reality of this world.

Superego: It is the moral master or moral guru of our
personality. It controls the impulsive urges of the id and
pursues the ego to choose morally appropriate behavior
instead of only realistic behavior.
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Freud spoke of the dormancy period in the theory of sexual
development.

Freud spoke of dormancy in the latency stage of his
psychosexual development theory.

Freud described the latency stage as one of relative stability.
In this stage, no new organization of sexuality develops, and
he did not pay much attention to it.

The period of latency stage is 7-10 years.
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Anticipatory theory of play: This theory is also known as
PRACTICE THEORY was propounded by Karl Groos in his two
works ‘The Play of Animals’ and ‘The Play of Man'.

Play of animals: Puppies quarrel in a playful way because
dogs have to fight. Kittens run after moving objects, as they
have to catch mice.

Play of man: Children play different roles as a rehearsal for
the future. The child anticipates his future activities and
prepares himself to meet the problems in anticipation.
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In good adjustment, a person has their own control over his
wishes and behavior.

This person has awareness of one's own strengths and
limitations.

In good adjustment process, fully depends on reality.

In this the level of Aspiration is adequate.

Good adjustment gives satisfaction to the mind.

In good Adjustment, the person has the capabilities of
struggling with unfavorable circumstances.

Good Adjustment is a dynamic process.

Good Adjustment escapes the person from mental thoughts
collisions.

Good adjustment gives a new way of progress.

By Good adjustment, a person spends his energy on useful
work.

Hence we can say that a Critical fault-finding attitude is not
characteristic of good adjustment.
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Lev Vygotsky has proposed instructional scaffolding.
Vygotsky used this term to describe social and instructional
support provided by MKO to children to learn new concepts
and skills.

Once the skill is learned by the children, the instructional
support is withdrawn. In Vygotsky's view, 'scaffolding' refers
to a process through which required assistance is given to
children according to their individual needs.

It imparts temporary support to the children to enhance their
learning skills and also provides individualized support to
increase their learning boundaries.

This approach has been used to a great extent in dealing
with children who are labeled as struggling readers and is
expanding into other domains with success.

Thus, it is concluded that The word 'Instructional Scaffolding’
was discussed by Vygotsky.
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Behaviorism: According to it, learning is the product of a

stimulus-response bond or association that takes place due
to the presentation of a series of discrete stimuli and the
resulting responses. Learners’ response is linked to a
particular stimulus through mere trial and error. Insight plays
no role in the learning process. The behaviorist perspective
was later on criticized by many theorists, who believed that
individuals perceive the situation as a whole, and their
learning is based on this perception.

Associationism is the theory that complex mental processes,
such as thinking, learning, and memory, can be wholly or
mainly explained by the associative links formed between
ideas.

Psychoanalysis, a method of treating mental disorders, is
shaped by psychoanalytic theory, which emphasizes
unconscious mental processes and is sometimes described as
depth psychology.
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The correct sequence of phases of Bandura's social learning
is:

Observation: The first phase is to observe the behavior and
then imitate them as Bandura advocated that cognitive and
problem-solving skills can be learned by watching and
imitating others and new behaviors and experiences are
acquired by observing others in the immediate environment.
Attention: It refers to the process of paying attention to the
model to observe in order to learn. We do not imitate the
total behavior of a model rather we focus on specific aspects
that we are interested to learn. We pay attention to
significant features of the behavior we want to learn. For
example, a child learning to write in good handwriting
watches her teacher and keenly observes the way she is
holding the pen, moving her fingers, where she is using
capital letters and does not pay attention to how the teacher
is dressed or how she walks.

Retention: The ability to store information is also an
important part of the learning process. Retention can be
affected by a number of factors, but the ability to pull up
information later and act on it is vital to observational
learning. For example, if anyone is trying to bowl like Zahir
Khan, then he should mentally rehearse the sequences of the
bowling actions of Zahir after observing him in person or in
TV telecasts and forming a visual image of the actions.
Reproduction: It refers to the fact that the observer must be
endowed with the physical and psychological capabilities and
situational facilities to enact what has been observed. Unless
it is given the scope of expression, it may become extinct.
Motivation: The final phase is motivation and reinforcement.
Enactment of observed behavior would require an
expectancy of positive results. This may be learned by
observing that the model had been rewarded for the same
behavior. This factor of motivation as the external reward and
internal self-reinforcement has been emphasized repeatedly
by Bandura.
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Emotions expressed by humans can be divided into two
broad categories and are called positive and negative
emotions.

Examples of emotions include the following: Interest,
enthusiasm, boredom, laughter, empathy, action, curiosity,
anger, rebellion, irritation, etc.

According to William McDougall's concept of emotions
instincts and emotions were both innate patterns.
McDougall lists fourteen instincts together with 49 four
general tendencies.

He says that easy instinct has a corresponding emotion.
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An important characteristic of the 'formal operational stage
of mental development' is abstract thinking as in this period:
mental capabilities develop to the maximum level.
metacognition and problem-solving skills develop in
children.

children understand the world through abstract & scientific
thinking.

children become capable of hypothetical and deductive
reasoning.

Hence, it could be concluded that an important characteristic
of the 'formal operational stage of mental development' is
abstract thinking.
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Observation:

Observation requires the psychologist to observe the client
while engaged in ordinary, daily-routine behavior, in any
natural setting.

It is the most effective assessment tool for personality
development. Observation refers to the act of observing




something carefully.

In the observation method, teachers participate in activities
with students to observe their personality, behavior, and
learning style.

They establish friendly relationships with students to observe
them effectively to get realistic information.

They don't let the students realize that they are under
observation that's why students act naturally which leads to
qualitative observation.

They observe students while asking, drawing, discussing, and
behaving individually as well as in groups and write the
observation in the diary.

Hence, it is clear that many aspects of the development of
the personality can be observed by observation.
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Moderate Mentally Retarded are trainable mentally retarded.
These are those children who can be taught functional
academics with an emphasis on self-help and vocational
skills.

About 10% of mentally retarded persons with 1Q 35-50 are
classified as moderately mentally retarded.

They develop the intellectual skills of a non retarded 7 or 8-
year-old.

With this level of functioning, they can work in unskilled or
semi-skilled jobs under supervision. They may learn to talk
and communicate during the preschool period.

They can learn to care for themselves but do not live
independently and need care from relatives or in institutions.
They can adapt well to supervised life in the community.
Thus, it is concluded that Moderate Mentally Retarded are
trainable mentally retarded.
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CCE refers to a school-based evaluation, which covers all
aspects of school activities related to a child’s development.
It emphasizes two-fold objectives such as continuity of
evaluation and assessment of learning outcomes in a
comprehensive manner.

It covers all the domains of learning i.e. cognitive, affective,
and psychomotor domains.

It treats evaluation as a developmental process.

In CCE, students’ performance in both scholastic and co-
scholastic activities is assessed.

CCE aims to reduce the curricular workload on students and
to improve the overall abilities and skills of students by
means of evaluation of students' performance in both types
of activities.

Thus, it is concluded that Continuous Comprehensive
Evaluation is the assessment of scholastic and co- scholastic
areas.
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The Triarchic Theory is comprised of three elements, each of

which relates to a specific kind of intelligence:

the contextual element, which corresponds to practical
intelligence, or the ability to successfully function in one’s
environment.

the experiential element, which corresponds to creative
intelligence, or the ability to deal with novel situations or
issues.

the componential element, which corresponds to analytical
intelligence, or the ability to solve problems.

Hence, it could be concluded that the Logical-mathematical
element is not a type of intelligence described by Sternberg.
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Teachers should consider audio-visual aids as an alternative
to traditional teaching. In other words, audio-visual aids
should be used as an alternative to traditional teaching
because teaching and learning are more effective with the
use of audio-visual aids as compared to traditional teaching.
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ICT. With the development of education, the role of the
teacher will mainly be to encourage students to learn. ICT.
Technology is mainly used by teachers to make student's
learning permanent and more effective so that they can
expand their knowledge by taking more interest in the
teaching process.
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The process of enhancing learning through the use of
technology is called information and communication
technology. Information and communication technology is a
combination of devices (hardware) that helps in creating,
modifying, retrieving, storing and communicating
information using electronic mediums. At present,
information and communication technology is being used
extensively in the field of education. Such as — digital library,
computer assisted conference, email and mutual
conversation etc.
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Herbert has created the structure of memory level teaching
model in five steps which is famous by the name of Herbert
Five Step System. These five terms are as follows — (i)
Introduction or preparation (ii) Presentation (iii) Explanation
and comparison (iv) Generalization (v) Experiment and
practice
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For the cognitive aspect, the order of Bloom's classification is
as follows — 1. Knowledge 2. Comprehension 3. Application 4.
Analysis 5. Synthesis 6. Evaluation
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Concrete thinking is dominated by real objects and events
and lacks concepts, generalizations, imagination, etc. That is,

concrete thinking is thinking in relation to any concrete or
concrete object or event.
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The IDEAL model for problem solving was developed by
Bransford and Stein (1984). It has the following steps — (i) | —
Identifying the problem (ii) D — Defining the problem (iii) E -
Finding different alternative solutions, brainstorming and
testing different ideas (iv) A — Working on strategies To do
(v) L—To look back and evaluate the results of one's activity.
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Reflective thinking is part of a critical process. It is mainly
concerned with analyzing and making decisions about what
has happened. According to Dewey, "Reflective thinking is an
active, sustained and careful consideration of a belief or a
form of knowledge, the reasons to support this knowledge,
and the conclusions drawn from this knowledge." Reflective
thinking involves invention, theory building. And
generalization comes in all three.
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According to Kohlberg, under the social contract and
personal rights sub-stage of the post-traditional level of
moral development, any child tries to know the feelings and
needs of his family or close friends and tries to help them. In
this stage the child starts thinking intelligently, evaluating
human rights and working for the welfare of the society.
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According to Piaget, children of 5 to 7 years are in pre-
operational stage. Children at this stage can plan small
activities, they are curious, so they ask questions and use
their imaginations. According to Piaget, children of 5 to 7
years are in the introspective period. During this period,
children lack logical thinking.
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Talented children have the following characteristics: m They
have the ability to take quick decisions and are self-
confident. m Their sense organs develop at a more rapid
pace. m In these, the ability to perform cognitive activities is
more intense. m They take more interest in abstract subjects.
m They have intellectual leadership qualities. m Varieties are
found in their activities. m They have more insight or
understanding. m Their vocabulary is more extensive. m They
take more interest in difficult subjects.
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When talented and mediocre students learn together in an
inclusive classroom, the talented students realize their inner
potential. Gifted students are better intellectually than other
students, hence if they are taught along with normal children,
they do not take interest in teaching. Therefore, gifted
children need additional instruction.
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Inclusive education is the process of strengthening the
capacity of the education system to reach all learners.
Inclusive education is the attitude of accepting diversity in an
inclusive classroom, under which children who are deprived
of education are included in the main stream of education so
that they can also become a part of general education and
contribute to the building of the nation. The concept of
inclusive education is based on the concept that all children
need access to school education in a manner that is
understood within the context of their regional, cultural,
social-environment and broader social, economic and
political processes.
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Children who are rarely selected positively or negatively in
peer-accepted aspects are called neglected children.
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The purpose of summative assessment is to check the

suitability of a pre-developed educational program,
curriculum, teaching method, teaching material. With the
help of this evaluation, the learning progress of children is
controlled during teaching. Therefore this assessment is
done at the end of the lesson.
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Reminiscence prompts and review questions are included to
organize knowledge and ideas. That is why questions are
included at the end of the lesson in text books.
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Observation can be called a part of assessment only when

the assessment is essentially being done formally.
Observation is the technique of measuring the behavior of a
person, object, event or process by seeing or observing it.
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“To make children pass-fail is actually to blame systemic

failures on the children.” This statement is most appropriate
in the context of evaluating educational processes.
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Meaning of social stratification. Division of society into
different levels. Social stratification is the process by which
groups of individuals are stratified from high to low into
different categories in the hierarchy relative to their amount
of prestige, wealth, and power.
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Educare means to educate i.e. to develop or bring out.
Educare is a Latin word which is used for the word
‘Education’.
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The aim of education is an element under educational
philosophy. The main objective of education is to bring
about change in the behavior of a person. Along with this,
there are some other major objectives of education like-
objective of earning livelihood, training of citizenship,
education for intellectual development, education for the
future, objective of character building, objective of
adaptation with the environment etc. These objectives have
been determined by various scholars, philosophers, social
reformers and educationists keeping in mind the needs of
the individual and society.
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What children learn in school from the teacher's attitude and

behavior comes under the hidden curriculum. The process of

learning the feelings, behaviours, attitudes and values that
arise naturally as a result of the teacher's response comes
under the latent curriculum. The impact of the secret
curriculum can be both positive and negative.

Ques 184. ANS (A) Solution:

BT B HTIR- "UIGTHH TP HATDBR (AUDb) b BT BT
I SR ¢ forad a5 ot wrieme (Senea) # st 9 &
3y faemdf & wu Targ1”

According to Cunningham — “Curriculum is the tool in the
hands of an artist (teacher) with which he gives form to the
student according to his thinking in his workshop (school).”
Ques 185. ANS (D) Solution:

TSt e A (1986) BT RIGIRD 8 f6 UGC, NCERT, NIEPA,
AICTE SQTfe SR TP HEw & TRITHT BT HoTgd fohal SITe
e 3 R Bt el TOTeR Bt SR 2 W | 1 e
A SRR < a1 3R SHNTHATS! 5 Tie or Frerreft
DI SR BT T ot

The National Policy on Education (1986) recommends that
institutions of national importance like UGC, NCERT, NIEPA,
AICTE, etc., will be strengthened so that they can shape the
national system of education. Schemes like Operation Black
Board and opening of Anganwadi centers were
recommended in the National Education Policy itself.

Ques 186. ANS (A) Solution:

ad e ST, R e HrfwT SR 4fiw! & FHriwH,
sl & HTerd ¥ uve e SR wad fRiam & siarid
e foam T g

Continuing education programs, distance learning programs
and workers' programs, adult education through employers
and continuing education are included.

Ques 187. ANS (C) Solution:

AT A= o FRI&M0T H TNT 1 S Tt HTST Te® 3R
HaaTie BT AR | HTST e H | S gRT s ok
el S aTelt BT AfeT a1 FHTa=i e &1 Sid &
arelt g =Ryl

The language used in teaching social sciences should be
neutral and sensitive. The language should be understood
and spoken by all children in the class and should support
inclusive education.

Ques 188. ANS (A) Solution:

el § uferal & e i3 S arel S stidier & Udie

T (T L)) H Fufeiad &1 g1 3axus 3- w 3
D UBYH u SHTGIT & I n SHiciad J J&fId qonst &
&

The case study of a social movement given for discussion in

the class must have the following: - Background of the
movement - Objectives of the movement - Areas of
problems related to the movement.

Ques 189. ANS (D) Solution:

ST UTeTal 1 FUR@I-2005, Jpal # faxH UgH & g
TS MR EfVBI0 BT UM BT G191 2
TR TH -2005 & AH 8 6 TAF U $8 0 faR daR
31T & TR ST $B TAdheEal g Bl & | 3 fe oft
FHY P! AT & o1 WHR T8l BT AN, Fard G-l




AT B Fhall & Tt usil & IR 7 it Afet st bt ot
SR He H Fag e ol 8|

The National Curriculum Framework-2005 suggests adopting
an inquiry-based approach to teaching science in schools.
NCF-2005 believes that each question brings some new ideas
and clears up some misconceptions. Therefore no statement
should be accepted without analysis, questions should be
asked. It may not answer all the questions but it can help
children learn better.

Ques 190. ANS (B) Solution:

ST HigRdT L TSR (NLMA) HRd SRR GRT 5 7S
1988 H & {1 T Ueb YT HTSHH B | AP H&RAT
o WSRO I T9TeA SR AT T & U o faT
F ORI § BT T § T a8 15 9 35 Mg T &
qGED] D1 WERT & GRI R BT 8| AP HieRe fH2 o1
HAAd = had YeT, forg=T 3R = R giar § sfew ot
B Y S BT Faa- 3R 3 TG IUT AZH H AG HRAT
gl

National Literacy Mission Authority (NLMA) is a nationwide
program launched by the Government of India on 5 May
1988. The National Literacy Mission Authority works under
the guidance of an independent wing of the Ministry of
Human Resource and Development which aims to educate
adults in the age group of 15 to 35 through literacy. National
Literacy Mission means not only teaching reading, writing
and counting but also helping people to transform their lives
and grow and understand.

Ques 191. ANS (C) Solution:

Q&0 U Ufehan § forad B &1 37 SMaIHdTIaR
e, 37 emarsii &l dgM P forT 39 I 3R HId BT
TIAY IUANT X B AGE B1 W 8 dlfch a8 (01 BT S
TuTdt 3R Ao S &7 Y HR T | Taefd 1 0d I aad!
RT3 THId =0 ¥ e § IT! Tgdl H1 8| 395
foQ Tdderd eI & SITTU HINA BT dgaR a7,
SYUTTDHT TR SIS b AL T R PR BT B Bl
gl

Supervision is a process in which students are helped to learn
as per their need, make best use of their knowledge and
skills to enhance their abilities so that they can perform their
work more effectively and satisfactorily. The basic objective
of the supervisor is to help children learn more effectively.
For this, the supervisor works to improve the teaching skills
of teachers and establish relations between parents and
teachers.

Ques 192. ANS (C) Solution:

Hd & ofgedl & 9 & A7d1-Uar & Tees (e gey
IiAfd) SifiyuTass Yes! & g | HagH BT a1 GeT gl
BT 3R WA T HR T § AR T HY I AT b TR
REIEKSISIRY

Parents as decision makers in the school should vote or

stand for election of SMC (School Managing Committee)
parent managers and make suggestions about what the
school is doing and how it should be run.

Ques 193. ANS (C) Solution:

FRIAR A e b 37 1 WY HRd U Hal § - " TUIAH
el BT YIaiyd, hHdg, FAfd sigufds td siefirais

TFYT S g3l & o Hicta grm & Rigial il
RGeS GRT FERIT BT §, BT A® SIHUM el Sl
B 1" 8 YR STHY ufhan &1 ifeifa fRufaat qaor et 1
Kerlinger, while clarifying the meaning of research, has said
that - "Systematic, systematic, controlled empirical and
critical research of natural phenomena which is guided by
theories and hypotheses of assumed relationships between
phenomena is called scientific research." 'Thus uncontrolled
situations are not a characteristic of the research process.
Ques 194. ANS (D) Solution:

I faR &1 UTeg-qRdes! § AT 3R 3Rl &1 uanT
TR , Fifds I STURON Pl T Pl g |

The use of maps and diagrams in social science textbooks is
relevant because they clarify concepts.

Ques 195. ANS (A) Solution:

TS fas e 1 seR-uat faftre well &1 T B
YT R T 31T BT TteiuT I R 9 ST 3

The foundation of social science teaching emphasizes
respecting different opinions and examining ideas and
practices.

Ques 196. ANS (B) Solution:

TR AT &) Ueu-aeh! & Ufd T =¥ g1 Tnfey
% IH I & YUSR g ST Y@ dTe & SHaER JHled of|
The approach towards social science textbooks should be
that they contain a wealth of knowledge and opportunities
for further inquiry.

Ques 197. ANS (D) Solution:

g1 & RO R $HRAT, Sa1eq & Re0r- i ot
o1 S § M IR0 B 781 81 el U=t Uraaierl iR
feieH &, e oIk T & T &g &3 &1 ArerT,
T FUTIATE! T T ST EVS ST g1 aern & =i g
Preparing assessment results is not one of the steps involved
in planning teaching-learning of EVS. While the EVS teaching
plan includes reflecting on your lesson plan, planning to
check for learning and understanding, and creating a realistic
time line.

Ques 198. ANS (A) Solution:

g TR R AL DI Ie Y 75 Aeqraeit YT, ferarae 3R
a1 Y IR A1 B | T A I I R & o faamef
TS I BT TSR] U HR Gl 5|

The purpose of writing at the word level is to learn new
vocabulary, develop handwriting and spelling. By giving
permanent form to the knowledge through writing, the
student can get information about every subject.

Ques 199. ANS (A) Solution:

il 3R e Tiafafrel R g9 B6i & o Arge ey
(FFNTATEH) I fAHRIT PR Thd § | TSHIHICR DA B
Sicid HIGURITY ATy Sffclt 81 U8 PI=Tel fohal RT e )R
YR 3|

Through art and craft activities we can develop psychomotor

skills among students. Psychomotor skills include muscular
activities. This skill is based on learning by action.

Ques 200. ANS (C) Solution:

Tl BT U R & H3 o 2 IR URIRURIG % raR
Qe &I GRS B §, I8 a1ed R Tafafy s &
aRuTHT o He § Fe Suger © | Suged Tt H gl o




TP R F H A & e TiRe TR a1 aea
fOhR 3{U- agR | UMY $HRob G bl URRUF & SR
TN B § | I8 IRIND TAfAfy BT IRUmMT W&y gl
gl

Every student comes closer to each other and adjusts himself
according to the circumstances, this sentence is most
appropriate in the context of the consequences of doing
physical activity. In the above activity each student performs
physical activity or action to come closer to each other and
then adjusts himself according to the circumstances by
modifying his behavior. This occurs as a result of physical
activity.




